[image: ]

Additional Assessment Materials 
Summer 2021

Pearson Edexcel AS Level in Business (8BS0)
 
Resource Set 2.3: Managing finance





 
 
 
 
 


 
 
 

 
 
 


Pearson: helping people progress, everywhere
 
Pearson aspires to be the world’s leading learning company. Our aim is to help everyone progress in their lives through education. We believe in every kind of learning, for all kinds of people, wherever they are in the world. We’ve been involved in education for over 150 years, and by working across 70 countries, in 100 languages, we have built an international reputation for our commitment to high standards and raising achievement through innovation in education. Find out more about how we can help you and your students at: www.pearson.com/uk
 

Additional Assessment Materials, Summer 2021
All the material in this publication is copyright
© Pearson Education Ltd 2021

General guidance to Additional Assessment Materials for use in 2021
Context
· Additional Assessment Materials are being produced for GCSE, AS and A levels (with the exception of Art and Design).
· The Additional Assessment materials presented in this booklet are an optional part of the range of evidence you may use when deciding on a candidate’s grade.
· 2021 Additional Assessment Materials have been drawn from previous examination materials, namely past papers. 
· Additional Assessment Materials have come from past papers both published (those materials available publicly) and unpublished (those currently under padlock to our centres) presented in a different format to allow you to adapt them to use with your candidates.
Purpose
· The purpose of this resource to provide qualification-specific sets/groups of questions covering the knowledge, skills and understanding relevant to this Pearson qualification. 
· This document should be used in conjunction with the mapping guidance which will map content and/or skills covered within each set of questions. The mapping guidance will also highlight where the question originally came from to allow you to access further support materials (mark schemes, examiner reports).
· Use of these assessment materials will assist you in assessing candidates’ current performance in areas not assessed elsewhere. Their use will also provide an extra opportunity for candidates to demonstrate their performance at the end of their course of study.
· Specific guidance relating to this selection of material for this subject is detailed below. 
· These materials are only intended to support the summer 2021 series. 






[image: ]

1. Using the data in Extract B, and assuming a sales volume of 20 schools in 2015, calculate Backpack Ltd’s likely profit. You are advised to show your working.
[image: ]											(4)
[bookmark: _Hlk66994559]________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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2. (a) What is meant by current liabilities?[image: ]						(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


(b) Give two examples of non-current assets that a business may have on its Statement of Financial Position.							(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(c) Using the data in Extract C, calculate the current ratio for SuperGroup Plc in 2014. You are advised to show your working.					(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(d) Explain how poor management of its working capital might affect SuperGroup Plc.									(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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3. Using the data in Extract C, calculate Burberry plc’s gross profit margin to 2 decimal places (2 d.p). You are advised to show your working.			(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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4. (a) Give two examples of current assets.						(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(b) Using the data in Extract D, calculate, to 2 decimal places, the acid test ratio for Willie’s Cacao Ltd in 2016. You are advised to show your working.
											(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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5. [image: ](a) What is meant by working capital?						(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


(b) Explain the distinction between Brantano Ltd’s cash and its profit.		(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(c) Using the data in Extract D, calculate, to 2 decimal places, the current ratio for Brantano Ltd. You are advised to show your working.				(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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6. (a) Using the information in Extract B, calculate the operating profit for Fevertree Drinks plc in 2016. You are advised to show your working.			(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(b) Using the information in Extract B, calculate, to 2 decimal places, the profit for the year (net profit) margin for Fevertree Drinks plc in 2016. You are advised to show your working.									(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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7. [image: ](a) Using the information in Extract B, calculate the net assets of CMR Surgical Ltd in 2017. You are advised to show your working.					(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


(b) Using the information in Extract B, calculate the acid test ratio, to 2 decimal places, for CMR Surgical Ltd in 2017. You are advised to show your working.
											(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(c) Assess how important CMR Surgical Ltd’s liquidity is to the successful development of its new product.							(10)



8. Assess the extent to which rising costs of raw materials may have led to the failure of JE Wilson & Sons Ltd. [image: ]							(10)



[image: ]
In order to increase its profits, AO.com could either sell a wider range of products through the internet or improve its branding.

9. Evaluate these two options and recommend which option AO.com should use to increase its profits.									(20)




10. To increase its profits, Tesco could use competitive pricing or increase the amount of innovation within its stores.

[image: ]Evaluate these two options and recommend which option Tesco should use to improve its profits.									(20)
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Indicative content.

Mark.

Knowledge 4, Application 4, Analysis 6, Evaluation 6
Sell a wider range of products through the internet:

« The internet means that AO.com do not need to have *bricks
and mortar” high street stores. Therefore, they may have a
lower cost base than competitors such as Currys Digital
allowing the company to improve its profits.

= With a wider range of products such as computers and
vacuum cleaners, there is a wider market to sell to, allowing

utilisation of its warehouse
and logistics. This may reduce unit costs allowing profit per
computer/vacuum cleaner to be maximised.

« A wider product range may increase the number of markets
AO.com sell to, therefore maximising its potential to
generate revenue since there may be a larger number of
potential customers for Blu-ray players/soundbars. This
should cause profits to increase.

Improve branding:

« Branding may increase the recognition of AO.com compared
to rival companies such as Currys Digital, allowing AO.com to
make more sales leading to higher profits.

« Branding may reduce the PED, allowing AO.com in the long-
term to increase its prices and make a larger profit margin
on each domestic appliance sold.

« Branding may prevent other internet start-ups focusing on
the same washing machine and fridge-freezer market as
AO.com, preventing future falls in profit.

« Branding may increase fixed costs and may take time to
build recognition with its 'O - let’s go’ slogan in the market.
Thus, in the short-term profits may fall.

Potential recommendation:

« The domestic appliance market is very competitive and any
change in strategy, which potentially could raise costs, may
put them at a pricing disadvantage in a market where
demand is price elastic. Thus, profits could fall.

= AO.com should sell a wider range of products since it is
already an established internet retailer. Therefore, its
existing customers may now have the opportunity to
purchase other products such as computers and televisions
stealing market share from Currys Digital, which may
improve the profits of AO.com.
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Answer

Mark

Knowledge 1, Application 3

Quantitative skills assessed:
QS1: calculate, use and understand ratios, averages and
fractions.

Knowledge: 1 mark for identifying the acid test ratio formula.

« (Current Assets - Inventory/Stock)/Current Liabilities

Application: up to 3 marks
« Calculate current assets - inventory =

£1177 472 - £666 386 = £511 086
« Calculate acid-test ratio = £511 086/£445 718
« Acid-test ratio = 1.15

NB: If the only answer given is:

1.15 award 4 marks
1.146 or 1.14 award 3 marks

4)
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Level Mark Descriptor
0 A completely inaccurate response.
Level1 |14 Isolated elements of knowledge and understanding.
Weak or no relevant application of business examples.
An argument may be attempted, but will be generic and fail to
connect causes and/or consequences.

Level2 |58 Elements of knowledge and understanding, which are applied to
the business example.

Arguments and chains of reasoning are presented, but
connections between causes and/or consequences are incomplete.
Attempts to address the question.

A comparison or judgement may be attempted, but it will not
successfully show an awareness of the key features of business
behaviour or business situation.

Level3  [9-14 ‘Accurate and thorough knowledge and understanding, supported
throughout by relevant and effective use of the business
behaviour/context.

Uses developed chains of reasoning 5o that causes and/or
consequences are complete, showing an understanding of the
question.

Arguments are well developed.

Quantitative and/or qualitative information is introduced in an
attempt to support judgements, a partial awareness of the vali
and/or significance of competing arguments and may lead to a
condlusion.

Level4 [15-20 | Accurate and thorough knowledge and understanding, supported

throughout by relevant and effective use of the business
behaviour/context.

Uses well-developed and logical, coherent chains of reasoning,
showing a range of cause(s) and/or effect(s). Arguments are fully
developed.

Quantitative and/or qualitative information is/are used well to
support judgements. A full awareness of the validity and
significance of competing arguments/factors, leading to balanced
comparisons, judgements and an effective conclusion that
proposes a solution and/or recommendation(s).
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Answer

Mark

Knowledge 1, Application 3

Quantitative skills assessed:
QSS: calculate cost, revenue and break-even.

Knowledge: 1 mark for identifying the profit formula.
« Total Revenue - Total Costs

Application: up to 3 marks
« Calculate total revenue = £2 000 x 20 schools = £40 000
« Calculate total costs = £10 000 + (£200 x 20 schools)

= £14.000
« Calculate profit £40 000 - £14 000 = £26 000

NB: if the answer given is £26 000 award 4 marks.

(4)
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Indicative content

Mark

Knowledge 4, Application 4, Analysis 6, Evaluation 6
Competitive prices:

 The UK grocery market has become more competitive. Therefore,
Tesco may have to charge similar prices to rivals, such as
Sainsbury's, if it wants to prevent further declines in its market
share and profits.

« Tesco is the largest supermarket by market share, so should have
the greatest economies of scale. This should allow it to lower its
prices to a more competitive level and still maintain a positive
profit margin.

« Theincrease

competition due to the price war with Aldi and Lidl
has made demand within the market more price elastic.
Therefore, lowering prices may result in an increase i
and rising profits.

revenues

Increase the amount of innovatior

« Innovation within Tesco will be a source of differentiation and
added value making the supermarket stand out compared to
rivals such as Lidl. This could increase profits.

By offering more convenient methods of payment through
PayQuik and better customer service through BYOD, Tesco may
become a more convenient supermarket to use, attracting
shoppers who are less price sensitive. This may boost sales and
profits.

« The innovation may be difficult/expensive for rivals to copy
quickly. Therefore, if it is an effective source of differenti
because it could attract younger consumers, who would
expect to pay in this way and not queue.

Potential recommendation:

« If Tesco lower their prices, itis likely that other supermarkets will
respond by lowering their grocery prices as well. However, due to
their economies of scale, Tesco may be best positioned to win any
price war. This may increase profits in the long term.

« The innovation within the store is so minor and expensive that it is
unlikely to attract significant numbers of extra customers to cover
the additional cost to Tesco. Therefore, it could cause profits to
fall.

0
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= AO.com should use branding since over time it may attract
consumers who are less price conscious and could potentially
add value. This would allow the company to increase the
profit on each domestic appliance sold.

« The domestic appliance market is very competitive and any
change in strategy, which could, potentially, raise costs, may
put them at a pricing disadvantage in a market where
demand is price elastic. Thus, profits may fall

(20)
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Mark

Knowledge 1, Application 3

Quantitative skills assessed:
QS1: calculate, use and understand ratios, averages and fractions

Knowledge: 1 mark for identifying the net assets formula:
« total assets - total liabilities
« non-current assets + current assets - current liabilities - non-
current liabilities

Application: up to 3 marks for:
« £27349 000 - £12 859 000
« £10637 000 + £16 712 000 - £2 652 000 - £10 207 000
« net assets = £14 490 000

NB: If answer given is £14 490 000 award 4 marks

@
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Answer

Mark

Knowledge 1, Apj

Quantitative skills assessed:
QS1: calculate, use and understand ratios, averages and
fractions.

QS2: calculate, use and understand percentages and percentage
changes.

Knowledge: 1 mark for identifying the formula for gross profit
margin or gross profit.

« Gross profit/sales revenue x 100

« Gross profit = sales revenue - cost of sales

« Gross profit = operating profit + other operating expenses

Application: up to 3 marks
« Calculate gross profit = £2 523.2m - £757.7m
= £1765.5m
or
Calculate gross profit = £440.3m + £1 325.2m
= £1765.5m
« Calculate gross profit margin = £1765.5m/£2 523.2m x 100
=69.97%

NB: if the answer given has been rounded e.g. 70%’ ‘or 69.9%"
award 3 marks.
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Answer Mark

Knowledge 1, Application 3

Quantitative skills assessed:

Qss: calculate cost, revenue, profit and break-even.

Qs9: interpret, apply and analyse information in written, graphical and
numerical forms.

Knowledge: 1 mark for identifying the operating profit formula.
« Revenue - cost of sales - other operating expenses
« Profit for the year (net profit) +/- interest
« Gross profit - other operating expenses

Application: up to 3 marks
 £102237354 - £45815263 - £22 049714
« £34301880+£70 497
 £56422091-£22049 714

« Operating profit = £34 372 377

NB: if the answer given is ‘34 372 377’ award 4 marks. “@
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Answer

Mark

Knowledge 1, Application 3

Quantitative skills assessed:
QS1: calculate, use and understand ratios, averages and
fractions.

Knowledge: 1 mark for identifying the current ratio formula.

 Current Assets/Current Liabilities

Application: up to 3 marks

« Calculate current assets = £86.2m + £77.8m + £54.3m =
£218.3m

« Calculate current ratio = £218.3m/£73.1m

« Current ratio = 2.98 (or 2.99 if rounded up)

NB: if the answer given is 2.98 or 2.99 award 4 marks.

(4)
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Answer Mark
Knowledge 1, Application 3
Quantitative skills assessed:
Qs5: calculate cost, revenue, profit and break-even.
Qs9: interpret, apply and analyse information in written, graphical and
numerical forms.
Knowledge: 1 mark for identifying the profit for the year (net profit)
margin formula.
« (Profit for the year (net profit) + Revenue) x 100
Application: up to 3 marks
« (£34301880 + £102 237 354)
« x100
« =3355%(2dp)
NB: If the answer given is 33.5, 33.6 or 33.551 award 3 marks. “@
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Indicative content

Mark

Knowledge 2, Application 2, Analysis 3, Evaluation 3

« Liquidity is the ability to pay bills in cash when they fall due. Itis
shown by the working capital within the company. CMR Surgical
Ltd has just secured a share capital injection of £75 million.

« Liquidity may be important because the development costs of
brand new ground-breaking robotic technology are likely to be
high. Therefore, there may be large cash outflows.

« The robot has not been completed yet, so it is likely that CMR
Surgical Ltd's cash inflows may be virtually zero. Therefore, the
company may be using its cash quickly whilst it develops the new
robot for market, so net cash flow may be negative. Therefore,
liquidity may be important.

Possible counterbalance:

« Liquidity may not be important since other factors such as
ensuring the robot works properly and meets the needs of
surgeons may be more important.

« CMR Surgical Ltd's working capital in 2017 was £14 060 000. This
seems to suggest that it has limited working capital problems,
even before the 2018 cash injection. Thus, liquidity s unlikely to
be problematic.

« However, CMR Surgical Ltd operate with ground-breaking robotic
medical technology. A major setback could cost millions of £ to
correct. Therefore, lack of liquidity still has the potential to cause
the business to fail.

Possible judgement:

« The extent to which liquidity is important is dependent on how
well-developed the Versius robot is. If the product is nearing
completion and all of the major engineering problems have been
solved, cash outflows are likely to decrease. Therefore, liquidity is
unlikely to be an important factor in allowing CMR Surgical Ltd to
develop its new product.

(10)
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Answer

Mark

Knowledge 1, Application 2, Analysis 1

Knowledge: 1 mark for knowing what is meant by working
capital, e.g.

« The amount of money needed to pay for the day to day
trading of a business or current assets - current liabilities.

Applicatio

up to 2 marks for contextualised examples, e.g.

« Could lead to them being unable to pay clothes
suppliers/store rent to landlords.

« Could create opportunity costs (current ratio is high at 2.98)
for a retailer.

Analysis: 1 mark for explaining why the above would affect
SuperGroup Pic, e.g.

« Therefore SuperGroup Plc may need to inject more capital
through overdrafts or loans, in order to pay suppliers or
make payments to landlords.

« This could lead to missed opportunities to expand more
rapidly since cash is greater than current liabilities.

(4)
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Level

Descriptor

A completely inaccurate response.

Level 1

Tsolated elements of knowledge and understanding.
Weak or no relevant application of business examples.
An argument may be attempted, but will be generic and
to connect causes and/or consequences.

Level 2

Elements of knowledge and understanding, which are applied
to the business example.

Arguments and chains of reasoning are presented, but
connections between causes and/or consequences are
incomplete. Attempts to address the question.

A comparison or judgement may be attempted, but it will not
successfully show an awareness of the key features of
business behaviour or business situation.

Level 3

9-14

Accurate knowledge and understanding, supported
throughout by relevant and effective use of the business
behaviour/context.

Uses developed chains of reasoning, so that causes and/or
consequences are complete, showing an understanding of the
question.

Arguments are developed.

Quantitative and/or qualitative information is introduced in

an attempt to support judgements, a partial awareness of the
ity and/or significance of competing arguments and may
lead to a conclusion.

Level4

15-20

‘Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

Uses well-developed and logical, coherent chains of
reasoning, showing a range of cause(s) and/or effect(s).
Arguments are fully developed.

Quantitative and/or qualitative information is/are used well to
support judgements. A full awareness of the validity and
significance of competing arguments/factors, leading to
balanced comparisons, judgements and an effective
conclusion that proposes a solution and/or
recommendation(s).
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Answer

Mark

Knowledge 2

Knowledge/understanding: up to 2 marks for, e.g.

« Inventory/stock (cocoa, chocolate bars)
« Cash
« Debtors/trade receivables.

)
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Answer

Mark

Knowledge 2
Knowledge/understanding: for, e.g.

« Any money which is owed by a business (1) that must be
repaid within one year. (1)

NB: If candidates only provide examples of current liabilities
award up to 1 mark, e.g. trade credit, overdrafts etc.

)
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Answer

Mark

Knowledge 2

Knowledge/understanding: for, e.g.

« Property
« Land

« Vehicles
« Machinery

(&3]
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Answer

Mark

Knowledge 2

Knowledge/understanding: for, e.g.

« The day to day finance/liquidity/short-term or current assets (1)

that allows a business to meet its liabilities/cash payments/bills (1).

NB: If candidates provide the correct formula (current assets - current
liabilities) award 2 marks.

2
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Answer

Mark

Knowledge 1, Application 2, Analysis 1

Knowledge: 1 mark for knowing that profitand cash operate on
different time scales, e.g.

« Profitis recorded straight away, cash normally takes time to catch
up.

Appli : 2 marks for contextualised examples, e.g.
« Brantano has to pay for stock of Sketchers i cash, before sales
revenue from a pair of shoes is received.
« Brantano's customers may pay in cash for Reebok shoes when
they purchase them.

Analysis: up to 1 mark for explaining why there may/not be a
distinction between profit and cash, e.g.
« Therefore, there s a distinction between cash and profit since
cash is affected straight away and profit wil be recorded later
when the shoes are sold.

@
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Mark

Knowledge 1, Application 3

Quantitative skills assessed:
QS1: calculate, use and understand ratios, averages and fractions

Knowledge: 1 mark for identifying the acid test ratio formula:
« (current assets - inventory or stock)/current liabilities

Application: up to 3 marks for:
« calculate current assets - inventory or stock
=£16712000 - £584 000 = £16 128 000
« calculate acid test ratio = £16 128 000/£2 652 000
« acid test ratio = 6.08

NB: If the only answer given is 6.08 award 4 marks

()
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Indicative content

Mark

Knowledge 2, Application 2, Analysis 3, Evaluation 3

« Raw materials are a variable cost.

« Rising raw material costs will increase the total costs of the
company.

« The high sugar content of a Kendal Mint Cake means that
the 30% increase in the world sugar price could cause a
significant increase in total costs, resulting in a fall in profits.

« The significant increase in unit variable costs could lead to
greater cash outflows to sugar suppliers which could damage
JE Wilson & Sons Ltd liquidity.

« The fall in contribution per unit would have resulted in a
much higher break-even level of output at a time when
demand for high sugar content cakes was falling. This could
lead to a lower/negative margin of safety.

Possible counterbalance:

« The costs associated with moving to the new factory could
be more significant than the rising costs of sugar, especially
since it is stated that this caused serious cash flow problems.

« The decline in the popularity of high sugar content cakes
could have caused a fall in revenues, leading to a fall in cash
inflows. This may have been more significant than the rise in
raw material costs.

Possible judgement:

« The rise in the sugar price may not have been the critical
factor that caused the failure of JE Wilson & Sons Ltd, since
the company may have been able to pass on the increase in
unit variable costs through a higher selling price for boxes of
Kendal Mint Cake.

« The rise in the sugar price may have been the critical factor
that caused the failure of JE Wilson & Sons Ltd because
Kendal Mint Cakes are high sugar content confectionery
items. Therefore, a 30% increase in the sugar price would
reduce the contribution per box and make the new break-
even point unobtainable given the fall in demand.

(o0





image3c.png
Level

Mark

Descriptor

A completely inaccurate response.

Level 1

1-2

Isolated elements of knowledge and understanding - recall
based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

Level 2

3-4

Elements of knowledge and understanding, which is applied to
the business example.

Chains of reasoning are presented, but may be assertions or
incomplete.

A generic or superficial assessment is presented.

Level 3

5-6

Accurate knowledge and understanding, supported by relevant
and effective use of the business behaviour/context.

Analytical perspectives are presented, with chains of reasoning,
showing cause(s) and/or effect(s).

An attempt at an assessment is presented, using quantitative
and/or qualitative information, though unlikely to show the
significance of competing arguments.

Level 4

Accurate and thorough knowledge and understanding, supported
throughout by relevant and effective use of the business
behaviour/context.

A coherent and logical chain of reasoning, showing cause(s)
and/or effect(s).

Assessment is balanced and well contextualised, using
quantitative and/or qualitative information and shows

an awareness of competing arguments/factors leading

to a supported judgement.
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Answer Mark

Knowledge 1, Application 3

Quantitative skills assessed:
QS1: calculate, use and understand ratios, averages and fractions.

Knowledge: 1 mark for identifying the current ratio formula.
« Current assets + Current liabilities

Appli : up to 3 marks.

« Calculate current assets = £2 343 000 + £20 250 000 +
£8154 000 = £30 747 000

« Calculate current ratio = £30 747 000 + £16 536 000

« =186(2dp)

NB: If the answer given is 1.85, 1.859 or 1.9 award 3 marks.

(@)
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Level

Descriptor

A_completely inaccurate response.

Level 1

Isolated elements of knowledge and understanding -
recall based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

Level 2

34

Elements of knowledge and understanding, which are
applied to the business example.

Chains of reasoning are presented, but may be assertions
or incomplete.

A generic or superficial assessment is presented.

Level 3

5-6

Accurate knowledge and understanding, supported by
relevant and effective use of the business
behaviour/context.

Analytical perspectives are presented, with chains of
reasoning, showing cause(s) and/or effect(s).

An attempt at an assessment is presented, using
quantitative and qualitative information, though unlikely to
show the significance of competing arguments.

Level 4

7-10

Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

A coherent and logical chain of reasoning, showing

cause(s) and/or effect(s).

Assessment is balanced and well contextualised,

using quantitative and qualitative information, and

shows an awareness of competing

arguments/factors leading to a supported

judgement.
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Extract B
Selected information about Backpack Ltd's homework app in 2015
Fixed costs per year = £10 000
Contribution per school = £1 800
Selling price per school = £2 000
Variable costs per school = £200
(Source: interview with main shareholder in Backpack Ltd 18/4/15)
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Extract A
Backpack: Student sets up online homework planner business

Backpack Ltd is a small start-up company set-up in Plymouth in 2012. Alistair started the
company after leaving school when he was 18 and he is the main shareholder. Alistai
chose to set-up the business as a private limited company to gain limited liability.

Backpack Ltd has developed an online homework planning application, or ‘app, which
is suitable to run on i0S and Android mobile phones. The app replaces the traditional
paper-based homework diary and allows teachers to set and track homework online.

In order to start his company, Alistair needed to raise £20 000 to develop and bring the
app to market. Alistair approached his local bank for a loan, but his business plan failed
to impress them and he was forced to raise venture capital instead. This required Alistair
to provide outside investors with 65% of the issued shares.

(Source: adapted from http://www.backpack ac)
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Extract D
SuperGroup invests £5 million in a new UK distribution hub

SuperGroup Plc is the owner of fashion label Superdry. Superdry retails clothes aimed at
15-25 year olds. It sells premium, branded, high-fashion clothing through 338 of its own
stores spread across the UK and the rest of the world.

Superdry operates in a clothing retail market that is both dynamic and highly
competitive. In recent years it has expanded rapidly and now has a presence in
46 countries.

To respond to the growth in the demand for its clothes, SuperGroup Pic has invested £5
million in a new distribution hub in Burton on Trent. This has allowed the company to
operate a Just in Time (JIT) stock management system.

(Source: http:/annualreport2014.supergroup.co.uk/strategic-report/strategic-report)
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Extract C
Selected information from SuperGroup PIc’s Statement of Financial Position (2014)

e
Non-current assets ‘ 147.7
Cash and cash equivalents ‘ 8.2
Inventory ‘ 778
Trade and other receivables ‘ 543
Current liabilities ‘ 731
Non-current liabilities ‘ 317

(Source: http://www supergroup.co.uk/investors/reports-and-publications/annuakreport-2014)
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Extract C
Selected information from Burberry pic’s 2015 statement of comprehensive income

\ -
‘ Revenue 25232 ‘
‘ Cost of sales (7577) ‘
‘ Other operating expenses (13252) ‘
‘ Operating profit 4403 ‘

(Source: adapted from http:/www burberryplc.com/documents/ar-1415/burberry_
financial_statements_2014_15.pdf)
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Extract D
Burberry plc proposes a new £50m factory in Leeds

Burberry plc is a luxury fashion company that produces and retails high-quality clothes,
leather goods and fashion accessories. These items are sold for premium prices, with

a typical Burberry trench coat selling for £1 500. From 2018, this product will be
manufactured in its new Leeds factory. This factory will replace two other factories

in Yorkshire and wil allow Burberry pic to improve productivity, resulting in waste
minimisation. Using the latest technology, the new factory will be able to increase trench
coat production by 300%.

The factory will use a Just in time (JIT) stock management system and will hold limited
buffer stocks of raw materials. Burberry plc also intends to improve the training of its staff
s that the effectiveness of its quality management increases. Burberry plc currently uses
quality assurance to ensure that its products meet customer expectations.

(Source: adapted from httpy/wwwitelegraph.co.uk/finance/newsbysector/
retailandconsumer/11973538/Burberry-backs-Brtain-by-opening-new-trench-coat factory-
in-Leeds html)
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Extract D
Selected information from Willie's Cacao Ltd’s 2016 Statement of Financial Position

e
Non-current assets ‘ 238294
Current assets ‘ 1177472
Current liabilities ‘ 445718

Non-current liabilities 125552

Inventory ‘ 666386

Net assets 844496

(Source: adapted from © Market Footprint Ltd)
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Extract C
Willie's Cacao Ltd

Willie's Cacao Ltd was founded in 1996 when Willie Harcourt-Cooze decided to buy a
cocoa farm in Venezuela. His aim was to produce the finest chocolate possible using only
the highest quality Criollo cocoa beans.

Once harvested, the cocoa beans are then transported to Willie's factory in East Devon
where they are turned into the highest quality chocolate products. The production
process is lengthy and capital intensive. The factory uses old-fashioned chocolate
manufacturing machinery, since Willie believes that it adds flavour to the chocolate.
Wherever possible, Willie uses lean production methods, providing they do not
compromise the taste of the product.

Willie's Cacao Ltd's chocolate products are sold to high-end retailers in the UK, such as
Waitrose and Selfridges. A Wilie's Cacao 50g chocolate bar is sold at a price of £1.90,
whilst a 50g Cadbury's Dairy Milk chocolate bar is sold at a price of 85p.

(Source: adapted from https://onthecocoatrail.com/2013/12/31/
willie-and-the-chocolate-factory/)
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Extract D

Selected information from Brantano Ltd's Statement of Financial Position (2015)

£000s
Non-current assets 8502
Current liabilities 16536
Cash and cash equivalents 2343
Inventory 20250
Debtors 8154
Net assets 10577

(source: Crown copyright)
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Extract C
Brantano Ltd collapses

Brantano was a value footwear retailer that failed in March 2017. It had 73 stores across
the UK and sold shoe brands such as Reebok and Skechers. Increased competition in the
footwear market was one of the causes of the failure, as a wider range of shoes was being
sold by retailers and supermarkets, such as New Look and Sainsbury’s.

In the months before March 2017, Brantanos suppliers removed their trade credit facility
and insisted it paid cash for stock in advance of any delivery. This resulted in liquidity
problems and reduced Brantano's working capital. The removal of trade credit also forced
Brantano to rely on the remaining buffer stock held in its warehouse to supply its shops.

Following the UK’s decision to leave the European Union, economic uncertainty was also
blamed for the collapse of the company.

(Source: Copyright Guardian News & Media Ltd 2018)
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ExtractB

Selected information from Fevertree Drinks plc’s Statement of Comprehensive
Income (2016)

s
Revenue ‘ 102237354
Cost of sales ‘ (45815 263)
Other operating expenses ‘ (22049714)
Interest ‘ (70497)
Profit for the year (net profit) ‘ 34301880

(Source: adapted from http:/ffevertree1.d3r-cdn.comy/pdfs/
original/3094-fevertree-ar-2017-web-ready.pdf)
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Extract A
Fevertree Drinks plc: A British success story

Fevertree sells 14 different premium drinks. Its most popular products are tonic water
and ginger ale. Each drink is made from the finest ingredients, such s quinine and
ginger, both of which are imported. In 2016, 44.7% of Fevertrees sales were made in the
UK with the remainder of sales from exports. The export market has grown by more than
40%since 2015.

Fevertree does not own any factories; it uses independent bottling and canning factories
in the UK to produce its drinks. Fevertree arrange for the ingredients and packaging
materials to arrive before the flow production process starts. Independent factories are
keen to accept Fevertree’s work since it improves their own margin of safety.

In 2014, Fevertree’s shares were floated on the stock market at £1.34 per share. This raised
£4 million of extra capital for the company. Since then, Fevertree’s share price has risen
by 1,646% to £23.40.

(Source: adapted from http/www.cityam.com/1415066650/fever-tree-shrugs-
‘market-woe-bigger-expected-float and http/fevertree1 d3r-cdn.
comlpdfs/original/3094-fevertree-ar-2017-web-ready.pdf)
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Extract A

Cambridge Medical Robotics (CMR) Surgical Ltd secures funding deal

CMR Surgical Ltd is based in Cambridge, UK. In 2018, the company raised £75 million in
share capital to provide it with enough liquidity to complete the development and launch of
its new product - a robot called Versius.

CMR Surgical Ltd believes that Versius will change keyhole surgery forever. The robot helps
a surgeon use less physical effort to perform keyhole surgery on a patient in hospital.
Traditional keyhole surgery strains a surgeon's arms and hands. This results in surgeons
having to rest before they can perform another operation. CMR Surgical Ltd believes that
Versius will allow the productivity of surgeons to significantly improve.

CMR Surgical Ltd forecasts that once the Versius robot is ready for market, it can generate
£4billion in sales per year, rising to £20 billion by 2050. CMR Surgical Ltd believes its
product is unique.
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Extract B
Selected information from CMR Surgical Ltd's Statement of Financial Position (2017)

[
Non-current assets ‘ 10 637 000
Current assets ‘ 16 712 000
Current liabilities | @es2000
Non-current liabilties | 10207000
Inventory ‘ 584000

(Source adapted from: https:/beta.companieshouse.gov.uk/company/ 08863657 filing-history)




image16.png
JE Wilson & Sons Ltd produced a break-even chart to show the profitability of the
Kendal Mint Cake production line in its new factory.

This is shown in Figure 1 below.
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Extract E
AO.com

AO.com is a Bolton-based online retailer of large domestic appliances, such as washing
machines and fridge-freezers. The company was set up in 2000 by John Roberts following
a £1 bet with a friend that he could dramatically change the way large domestic
appliances were purchased in the UK. AO.com uses the internet to distribute its domestic
appliances and does not use retail stores.

In 2014, AO.com raised capital through a stock market floatation and has grown its
market share in the UK, taking sales from rivals such as Currys Digital. In 2015, the
company started television advertising in the UK, using the slogan‘AO - let’s go in order
to increase brand recognition and sales. AO.com intends to improve its low profitability.

(Source: adapted from http:/ao.com/corporate/about-ao/history/)
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ExtractE
Tesco attempt to improve profitability in a challenging market

Tesco has been in a price war with other supermarkets such as Lidl and Aldi. This has
caused its market share to fall from 31.29 to 27.8% in 2017. Sainsbury's, the second
largest supermarket, only has a market share of 16.0%.

In May 2017, Tesco announced that it was going to lower the prices of thousands of
products to improve its competitiveness, with products such as vegetables being
reduced by 5%.

Tesco has increased the amount of innovation within the business. Customers can now
download the PayQwiq app to their mobile phone, which allows them to pay for their
grocery shopping by touching their phone against a checkout card reader. Existing
contactless payment technology limits such transactions to a maximum of £30.

Tesco has also introduced a Bring Your Own Device (BYOD) scheme, where employees
can download an app onto their mobile phones. The app allows Tesco employees to scan
barcodes and provide price and stock availability information to customers.

(Sources: adapted from http://wwi.essentialretail comyin-store-ops/article/
570f6ff5c7313-five-ways-tesco-s-approaching-retail-technology and
https://www kantarworldpanel.com/en/grocery-market-share/great-britain)




